T 49 POMPA ACQUA - PULEGGE - TUBI - FASCETTE
av. WATER PUMP - PULLEYS - PIPES - CLAMPS

102 In vigore dal - Effective from 15-12-2021 E




=2k

KART JAPAN

WATER PUMP - PULLEYS - PIPES - CLAMPS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A (0097.B0 94-5-1k° ¥7° 12017 Water pump ¥20,100 ¥22,110
B (0097.B10 91=9-°372°17°-Y- (/I\) Water pump pulley ¥3,700 ¥4,070
C |G.5%8 AFPUYT vy T yI1 M 4E43" (5x8mm) Locker M5x8 mm ¥40 ¥44
D |0097.04 9A=-5-ik° ¥7° INPYIH* Water pump bearing ¥2,500 ¥2,750
E [V.TB5X20 i 9YA9Y1- 5x20 TB screw 5x20 mm (for BSD system) ¥80 ¥88
F |R.P.5X11 793¥- D.5x11 Washer @ 5x11x1 mm ¥10 ¥11
G [0097.B3A I=9-°97° MIN°F-377 b 2017(%5" Edmm) Water pump crankshaft ¥1,300 ¥1,430
H [0097.08A IA=5-ik° Y7° MIN° 5-5v I bs-h" - Seeger for water pump shaft ¥30 ¥33
I (0097.B6 9A=-5-k°27° 1" Ay b Sponge for water pump ¥340 ¥374
J 0097.05 94=-5-ik°27° 1245~ RG 6X22X7 Oil-seal ¥1,100 ¥1,210
K |0097.B7A IA=5-i°Y7° MIN° 5- 2017(25" Fdmm) Water pump Impeller ¥3,400 ¥3,740
L [D.M5AB. 0yo3y b M5(F40Y) A.B. nut M5 ¥20 ¥22
M [V.TCE4X12 $r97° i b 4x12 TCEI screw 4x12 mm

N |0259.DA 9A=-5-ik° ¥7° Hifie - b Water pump support ¥1,700 ¥1,870
0  |0259.E28KIT 94-5-ik°Y7°H377°KIT D.28 Complete water pump clamp @ 28 mm ¥16,100 ¥17,710
0  |0259.E30KIT 94-§-i°¥2°H37°KIT D.30 Complete water pump clamp @ 30 mm ¥16,900 ¥18,590
0  |0259.E32KIT 94-9-°¥7°H37°KIT D.32 Complete water pump clamp @ 32 mm ¥16,900 ¥18,590
P  [0098.B0 94-§-i°v7°7°-Y-D.50 Water pump pulley @ 50 mm ¥6,500 ¥7,150
Q |0096.C0 94-8-°Y2° M 4T A" b (A-Y55*)92mm Water pump belt @ 92 mm ¥350 ¥385
R [0096.00 94=5-°Y2° M 347 N b (A-Y5) Water pump belt @ 110 mm ¥350 ¥385
S (0096.B0 94-8-°Y7° M 54T A b (A-Y55°)113mm Water pump belt @ 133 mm ¥350 ¥385
T [0095.00 53" 19-H-A L Water pipe L. 800 mm ¥5,900 ¥6,490
U |0095.A0 35" 19-N4N\° A=A ®12x17mm Water pipe @ 12x17 mm ¥2,000 ¥2,200
vV (0091.00 9A=5--ZN" I 016x25mm Water pump AC clamp @ 16x25 mm ¥470 ¥517
W [0091.A0 IA=5-H-Z2N" M ©12x20mm Water pump AC clamp @ 12x20 mm ¥450 ¥495






